oS oA AABC = AB = AC ¢l
BD =BC ¢ o, zx o] 37]&2
A
36
D
B C
B 44° @ 46° ® 30°

@36° @ 40°
o|B=Z /A = /ABD = 36°

AABD = o] 5HAZY
72°
2

(BDC = 36° 4 36° =
ABDC &= o|5HdZ4golng /BDC = /BCD = 72°

SoLx = 180° — 72° - 72° = 36°




2.

o2 1A H O7F aAABC 9] QJ4oletal &
ojth. sx 9] A7|=?

® 40° @)42° ® 44° @ 46°

o, /OBC = 48°

® 48°

AOBCE °lsHAZ g0l B
LOBC = OCB = 48°
(BOC =84°

AABC oA /BAC = %ABOC =42°




3.

rO
=
U
po)
rlo
4>
il

AL o, ze= ()0l (
atolat,

>
> ®e: 125°

€8 \
AB = /IAC, /IBA = /IBC, /ICB = /ICA o]t}

A2y Wzhe] 3719 §-8 180° 0|22 /ICBE zazt 514,
35°+35°+25°425°+ za+ La = 180°, za = 30° ©]t}.
AZFe IBC & WZhe] 2719] 312 180° 0| B2 £x+25°+30° =
180°

" /[x=125°




o8 T4 AABC = AB =CB, CA = CP o|Z, /A =66° ¥
o, /x 9] 27]E?

A

Q

66°

@® 16° @)18° ® 20° @ 22° ® 24°

AABC £ ol Zgo|lnR
/BCA = 66°

T AACP & o|SHAMZ o)l m 2
L/ACP = 180° — 2 X 66° = 48°
SoLx = 66° — 48° = 18°




w L™ o] 2 Zo]5HAZE DCE D
27kl AA € & A= 24 AB / 1)
@AM D, E oA 27t 24 DA, EB & °0 3cm
& o, DABED 9] {ol& 5fofzt. A C B
Il::||- . Cm2

LCDA = za 2} S},

(DCA =180°—-(90° + £CDA) = 90° — za

/ECB = 180°—(90°+ /DCA) = 180°—(90°+90° - Za) = Za
(- ©)

ACDA ¢} AECB ©J|A]

i)CD = EC

ii)/CDA = /ECB =za (Q)

1ii)/DAC = £/CBE = 90°

i), i), iii) ol ©J3] ACDA = AECB (RHA %) o[t}

&5 =39 o] Aol ZoBE AC = BE = 3cm,
AD = BC = 5cm ©|t}.

AB = AC + CB = 8cm ©|t}.

.. OABED = 8 x @ = 32(cm?)




A 1+ aABC 9] WAlolth. AB = A
14cm, AC = 10cm, DE//BCY o,
AADE 9] E¢)| 9] Zo|& F-5tofzt,

it
o
B

>
> HE. 24cm

€8 ~
ADBI®| A DE // BCo|R&

(CBI = /DIB(AZ})---@

¥, A 1= YAolBE& /DBI = /CBI---©O

@, ©°lA (DBI = /DIB

.. DB=DI

AEIC©|A DE //BCo|E&

(BCI = (EIC(RZ})---@

T, A= YAlelB2&2 /BCI = /ECI---®
@, @A (EIC = /ECI

- IE=EC

w2}A DI+ IE = DB + EC©]2& DE = DB + EC

- (AADE 9] £ €] Zo])
=AD + DI+ EI+ AE
=AD + DB+ EC + AE
=AB+AC
=14+ 10 = 24(cm)




7.

H017} 60 em? §1 THS HHAEF ABCD oA of - BEe] Hols
Jajolat,

A D

15 cm?

B

AAPO = ACQO (ASA 3H5)
StH, AAPO + ADQO = AOCD ©| 22

1 1
400D = JOABCD = - x 60 = 15(cm?)




o-& "I Zo] LA = 90° 91 AABC
o4 BD & (B 9] o]5EAo]1 BC =
20cm, AD = 6cm € W], ADBC 2] {o|

9

@ 50cm? @ 52cm? ® 58cm?
@®)60 cm? ® 64 cm?
(aDBCE] Wol) = 20 x 6 x ~ = A
5 2 “6cm
60 (cm?) J
6cn’1




ot 3o WA ABCD oA DF A
E o] o] 52 4e]1 /C = 110° °]

o
o

(B =70°, AB=AE°|E2 /AEB = 70°, ZEAD = 70° (%12

wehA] LADF = 20°, /CDE = 70° - 20° - 20° = 30° o]t}

T
=

)




10. H3IPAFHS ABCDOJA /ADE = /CDE ¥ uf], BE<] do|&?

A _--llem-_ D

o,
/ (]

(@)?mm @ 4cm ® 5cm @ 6cm ® 7em




